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Sample Questions

Sample Mathematics Questions 

1.	 2 (7 + 3)2 ÷ 20 + 5 = ?

	 A. 8
	 B. 10
	 C. 15
	 D. 25
							     

2.	 Benjamin can run 1.8 miles in 15 minutes. At this  
	 speed, how many miles will he run in 1½ hours?

	 A. 3.6 miles
	 B. 7.2 miles
	 C. 9 miles
	 D. 10.8 miles
							     

3.	 Solve for y. 
	 5x + 8 = 2y and -5x + 19 = y

	 A. 3
	 B. 6
	 C. 9
	 D. 12
							     

4.	 Kelley spins a wheel equally divided into 8 prize areas.  
	 What is the chance that the wheel will stop in either  
	 the 3rd or 8th prize area?

	 A. 1 in 4
	 B. 1 in 8
	 C. 1 in 16
	 D. 1 in 64

5.	 Sandra’s salary is $1,250 monthly, and she receives a  
	 $250 commission on each sale that she completes.  
	 How much does she have to sell to earn $4,000  
	 this month?

	 A. 10 sales
	 B. 11 sales
	 C. 12 sales
	 D. 13 sales
							     

6.  

	 In the year when the most people visited Nittany  
	 Mountain, how many more people visited Sleepy Giant  
	 as compared to Shenandoah?

	 A. 1,000
	 B. 2,000
	 C. 3,000
	 D. 4,000

Answers
Mathematics:      1. C       2. D       3. C       4. A       5. B       6. C
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Sample Questions

Sample Language  Questions 

1.	 Choose the answer that most nearly has the same  
	 meaning as the underlined word.

	 Covert means    ?   .
	 A. hidden
	 B. finished
	 C. lost
	 D. open
							     

2.	 Choose the verb form that correctly completes the  
	 sentence.

	 The ship has    ?    to the bottom of the ocean.
	 A. sank
	 B. sink
	 C. sunk
	 D. sunken
							     

3.	 Choose the underlined section that has an error in it. If  
	 there are no errors, choose D.

	 Mallory	     cares about     her work     and     show her	
	            	              A                     B		       C

	 enthusiasm to clients.     No error.
                                                                  D
							     

4.	 Choose the underlined section that has an error in it. If  
	 there are no errors, choose D.

	 The flock of geese     have flown     south and          
	                                              A                                             	
	
	 left behind      a     barren     wheat field.     No error.
                        B                           C                                         D

5.	 Choose the word that best completes the sentence.

	 We challenged the decision because we felt it was   ?   .
	 A. disreputable
	 B. arbitrary
	 C. unprejudiced
	 D. impartial
							     

6.	 Read the information below to answer the question.

	 Which of the following is not a reason given by  
	 Acmecorp for monitoring email/internet  
	 communication?

	 A. cost analysis
	 B. management of Internet gateway
	 C. cost allocation
	 D. liability concerns

Answers
Language:      1. A       2. C       3. C       4. A       5. B       6. D

Internet Security Statement for Acmecorp
Acmecorp routinely monitors use patterns for its email/
lnternet system. The reasons for this monitoring are many, 
including cost analysis/allocation and the management of 
Acmecorp’s gateway to the Internet.

All messages created, sent, or retrieved over Acmecorp’s 
email/lnternet are the property of Acmecorp and should be 
considered public information. Acmecorp reserves the right 
to access and monitor all messages and files on the  
company’s email/Internet system.

Employees should not assume electronic communications are 
totally private and should transmit highly confidential data in 
other ways.

© Wonderlic, Inc. 2013 - 8.6.1


